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1. Tom Cruise is a success in Hollywood because of his _A) talent _B) charm_C) appearance
_D) all of the above.

Hint: Three short answers and an ‘all of the above’.

2. Tom Cruise is a success in Hollywood because of his _A) talent, charm and ability _B)
pact with the Devil _C) connection and influence _D) all of the above.

See the Difference?

3. New York City can be described as New York's_A) capital city_B) largest city  _C)  the
big apple_D) all of the above

Hint: Read the question all the way through.

4. The capital of Alabama is_A) Montgomery_B) Birmingham_C) Edmonton_D) Ottawa

Hint: Cross out the choices that you know aren’t correct.

5. A dog is an_A) animal_B) machine_C) mineral_D) vegetable

Hint: Look at the grammar (they use the word ‘an’ instead of ‘a’).

6. An example of a nuclear reaction is _A) hydration_B) combustion_C) sublimination_D)
nuclear fission

Hint: Look to see if the answer repeats words from the question.

7. The freezing point of water is _A) 32 degrees Kelvin_B) 32 degrees centigrade_C) 0
degrees Fahrenheit_D) 0 degrees centigrade for pure water at sea level

Hint: Look for one answer that is much longer than the others.

8. When you are looking for someone’s daughter, you are inherently looking for a

A) Boy_B) Girl_C) Son_D) Lad

Hint: Eliminate words that all mean roughly the same thing.
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